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2A: 2ot (ot =2}
A T Dol o 2 =S 25
Sl THe22012 2E(MH221012) (Gt &
S - BB BR(31) - NSAY - BES S SR b=
TZOIOHM NN (OtE B2} 3,323,028 2,683,537 639,491
et - o ole 2 =353 238t 471,760 427,804 43,956
Met2ell2 2E(HH221012) 471,760 427,804 43,956
Mooyt & S2=720012) 471,760 427,804 43,956
201 et2AH| 31,760 27,804 3,956
01 AtS2teltl 31,760 27,804 3,956
=0 A 31,760 27,804 3,956
OMt2e 2357228l 31,760,000& 18] 31,760
401 AIEHIL 20| 440,000 400,000 40,000
01 Al&H| 440,000 400,000 40,000
=0 A 440,000 400,000 40,000
OMoholY & S=S= Ar|
440,000,000&*13] 440,000
HREs(tEs2) 2,851,268 2,255,733 595,535
BEXES(M22012) 2,851,268 2,255,733 595,535
MezieD| 228 2,851,268 2,255,733 595,535
602 OIXI= 2,851,268 2,255,733 595,535
01 2BHIXIZ 1,073,832 556,537 517,295
=0 A 1,073,832 556,537 517,205
Oz 012 Wxl2
1,073,832,000& *13] 1,073,832
02 2L0XIS 1,777,436 1,699,196 78,240
S0j &t 1,777,436 1,699, 196 78,240
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S SEARA
Hu: GlrE B
SR HSoISLHeIBSEMY (HSot-SLHeINSEAILAEZ) (& d
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
=E A A 31,861,559 32,137,025 N275,466
ot=% 22| 950,000 660,000 290,000
HEoI=ELXHMSEAIL (HESIEESL XIS EAl 950,000 660,000 290,000
SEREY
U2otexeld 2d2e 950,000 660,000 290,000
401 Al&HILL0HY| 950,000 660,000 290,000
01 Al&HI 950,000 660,000 290,000
=0 A 950,000 660,000 290,000
OUE2otHeIANE SR 24
950,000,000& *1JH A~ 950,000
HPES(SSAIEA) 30,911,559 31,477,025 565,466
BEIE(HESot=SLMHCIHRSEAMNAEEZ) 30,911,559 31,477,025 N\565,466
S8 N2 &2 30,911,559 31,477,025 A\565,466
602 OlXI= 30,911,559 31,477,025 A\565,466
01 LBHHIXIZ2 30,911,559 31,477,025 565,466
=0 A 30,911,559 31,477,025 A\565,466
Oulxl2 30,911,559,000& *13] 30,911,559
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